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A2 / MICRO — [MCQ] — CHAI’TER 1

Q1 [ [M/J 2008/Q2]
The lable shows lhe lotal ulilily thal an indwidual denves from cons!
good

uiming dillerent quantilies of a

' - tal utilily
quanlity of good lotal u
(unils) (units)

i 24
45 I s
63
78
E 90
e

o U S5 W N

The individual's marginal ulility of money is $1 = 2 unils of ulility.

What is the maximum quanlily of the good thal the individual will buy when ils price is $67

A 2units B 3 unils C 4unils D Sunils

Q2 | [M/J 2008/Q3)

In the diagram a consumer's inilial budgel line is JK.

quantity of
good Y

Assuming no change in the price of Y, what could ex

GH?
price of good X
s
A ase
B décrease
c increase decrease
D increase increase

—_————

Q3 [ [O/N 2008/Q3] ’

In the diagram a consumer's budget line shifts from GH to JK.

good Y

o H K
good X

Regardless of any other changes that might occur, what must be correct?

There has been an equal proportionate increase in the price of X and Y.

There has been an increase in the consumer's money income.

There has been an increase in the consumer's real income,

A
B There has been an equal proportionate decrease in the price of X and .
c
D
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The table shows th
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1J 2009/Q2

e marginal utilily derived by a consumer who devoles the whole of his weekly Q

income of S42 10 tw

s o ee————

A2/MICRO — [MCQ| — cHl

0 goods X and Y. whose unil prices are $3 and S6 respectively.

e |
1 12 ‘ 34 1]
2 i O
3 10 26 (
‘ , 9 22
5 8 18
5 | 7 14
! 6 10
8 1 5 6

In order to P .
maximise his ulility. which quantities of X and Y should the consumer purchase?

—

Y

EEEE——

(%]

@

QS5 | [M/J 2009/Q3]

Which statement must be coredt?

APTER 1

quantity of
good Y

A There has been an increase in the consumer’s money income,
B There has been a decrease in the consumer's real incoma.
C Good Y has become relatively more expensive.
D

The price of good X has increased.

Q6 | [O/N 2009/Q1]

The schedule sh
consumption.

ows the total utility derived by a consumer of a good X at different levels of

Eantity of X consumed 1 2 |3 4|5 |6 ]| 7] 8

total utility (units) 28 |40 | 50 | 58 | 64 [ 68 | 71 | 73

i
|
i
i
{

The consumer ob
she purchases.

A 2

tains two units of satisfaction from the last cent she spends on each good that

What is the maximum number of units of X that she will consume if the price of X is 6 cents?

B 5 c 7 D 8

AATIK
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A2/ MICRO —

a7 [[OIN2009/Q2]

an indwidual intially chocses com

In \he giagram. bination N on budgel line LM
omparied by an increase in the price of good Y causes his

An Increase in his money income acc
chooses combination T.

budgel hne 10 shift to RS. and he now

L
R
good Y N
T
o ———
M
good X B

How does lhis affect his economic welfare?

He is definitely betier off because his money income has increased.

A

B He is definitely worse off because he has to pay more for good Y.

C Heis better off since combination T, which he now chooses, was not previously available to
him. :

D Heis worse off since combinalions of X and Y along LN are no lo vailable to him.

(MCQ] — CHAPTER 1

Q8 [ [M/J 2010/Q1]
The diagram shows the marginal utility (MU) that an ind}
levels of consumption. k

utility )
it
(units) 30 4

Assumiing
the good is $10?

D 7kilos

C 6kilos

A 4kilos B 5Skilos

Qo [[MH 20100Q2] —

In the diagram a cansumer’s budget line shifts from GH to JK.

good Y

[0} K
good X

Which statement must be correct?

The price of good X has increased relative to the price of good Y.

A
B The prices of both goods have fallen,

C There has been an increase in the consumer's real income.

0 There has been an increase in the consumer's money income.

[ S Oy
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A2 / MICRO — [MCQ| — CHAPTER 1

[ Q10 [ [O/N 2010/Q2]

The schedule
show
consumptlion. s the total utility derived by a consumer of a good X al dilferent levels of

LQUanlily of X consumed | 1

w

1607
0 i_ 3. 84

| total utility (units) 130 |50 |65]7

2| afals

@ |

The i i
consumer obtains three units of utility from the last $ she sp

purchases. ends on each good that she

W i .
hat is the maximum number of units of X that she will consume if the price of X is $57
A3 B 4 c 5 D 6

Q11 [ [O/N 2010/Q3]

The line RS Ain the diagram shows the different com!
can afford with his present income.

binations of goods X and Y that a consumer

quantity
of Y

o

The consumer's original equilibrium is at M.

What could explain a change in his equilibrium position ¥,

A achange in his lasles

a decrease in the price of X and a bigger percen case it _Of Y

B
C anincreasein the price of X and an increase i
D

equal percentage increases in his income a

B untll the marglnal utlhty from each good is the same
c untilthe marginal utility from each good reaches a maximum
D

until the marginal utility from each good is zero

_
AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) [ 03041122845




A2/ MICRO — IMCQ)

Q13 | [M/J 2011/Q2]
Q13 | |

In the diagram, a consumer's initial budgel line is JK,

G
J

good Y

° goodx H K

gs{_{summg N0 change in the price of X, what could explain a shif in the consumer’s budgel fine 1o

_
% Price of good Y consumer's money
- ’ income

A decrease decrease

. B decrease ]1 increase

[ [ increase ] decrease

1

LD . __increase Jnorease

— CHAPTER 1

_[O/N 2011/Q1]

Why does a normal demand curve for a product s

A Buyers’ additional satisfaction declines as cg

B Consumers are faced with choices betwe
C Sellers are willing lo accept lower prices
D

consumer. preferencesis

B relative prices
C the consumer's money income
D

the consumer's real income

Q16 [ [M/J 2012/Q2]

The table shows the total utility that an individual oblams from consuming different quantities of a
good.

quantity of good total utility
(units) ~ (units)
1 20
2 36
3 50
4 62
5 72
| 6 80

The individual's marginal ulility of money is S1 = 3 units of ulility.
is the maximum quantity of the good that the individual will buy when ils price is $47
What 1s

it B 3unils C  4units D Sunils
A 2units

Lo

—

ATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/ MICRO — IMCQ] — CHAPTER 1

| Q17 [ [M/J 2012/Q3)

The i ; PR
curve GH in the diagram is a consumer's initial budget line.

G

good Y

0 H K
good X

Which combination could cause the budget line to shift to JK?

price of consumers'
good X money income
A decrease decrease .
decrease increase i
Cc increase decrease gio
D increase increase J e
43

Q18 | [O/N 2012/Q2]
A consumer who aims to maximise his utility w

sumption so that

A the total utility obtained from each commodi

B
C the same utility is obtained from the
D

the same utility is obtained from théﬁé@f;:

it

o) K H
good X

ely be concluded from the diagram?

What can definit

There has been a decrease in the price of good Y.

A

B " There has been a decrease in the consumer's money income.
C There has beenan increase in the consumer's real income.

p There has been no change in the price of good X.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845



A2/ MICRO — [MCQ] — CHAPTER 1

20 | {MIJ 2013/Q2) :
;:ed‘able Shows the total ulilty that an individual derives from consuming different quantities of a
od.
Quar;l.lly of good total utility '
(units) {unils)
1 20
2 36 0’/
3 50 [
EN
4 62 =
5 72 ~
6 80 L
he individual's marginal ulility of money is $1 = 2 units of ulility. o
What i : )
hats the maximum quantity of the good that the individual wil buy when its price is S67 \
A ; . —
2 units B 3unils C  4units D 5unils
Q21 | [M/J 201 3/1Q3) = gé-\ ==
In the diagram 3 consumer’s budget line shifls from GH to JK. E0E .
=
J -
G ',;'-:.
quantity of o
good Y
O
=
o
=
Which stalement must be correct?
A o
B
B B 0 2 \
c has béen an inc“?‘e‘éséf;?\ lhe'f')’f:icé of good X. o
9
D There has been an increase in the consumer's real income. N e
Q22 [ [O/N 2013/Q2] ]
The table shows the total utility that an individual derives from consuming different quantities of a f
good.
6=
quantity of good total utility
units units
(units) (units) 6
1 24
2 45 (SN
3 63
SN
4 78
5 90 &
6 99 -
The individual's marginal utility of money is $1 = 2 units of utility.
What is the maximum quantity of the good that the individual will buy when its price is $67? &
A 2 units B 3 unils C 4units D Sunits &

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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[ Q23 [ [O/N 2013/Q3)

T

he line RS in R
the m i
diagram shows lhe dilferent combinations of goods X and Y thal a consumer

can afford with her present income

quantity
of Y

0

quanlily of X

Th 's origi
€ consumer's original equilibrium is at M.

What could i
explain a subsequenl change in her equilibrium position to N?

A achange in her tastes
B ani i i
Increase in the price of X and a fall in the price of Y
C anincreasei i
X se in the price of X and a smaller percentage increase in the price of Y
N . .
qual percentage increases in her income and in bolh prices

=

Q24 | [MIJ 2014/Q2]

In

GH?

l . e
he diagram, a consumer's initial budgel line is JK.

good Y

O

A
B
(o8
D increase increase
Q25 | [O/N 2014/Q2
A household makes the following purchases of fruit.
] quantity price per

The household derives twi

L fut L purchased (kg) | kg ()

1 bananas 5
i H
| apples 10

ce as much utility [rom the tenlh kg of apples as from the fifth kg of

bananas.

what should the hous

purchase of purchase of
| bananas :  2pples
[}
l A decrease increase
| B increase decrease
e
o

ehold do to maximise utility from the purchase of these fruils?

A

A TIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/MICRO — [MCQ] — CHAPTER 1

F [O/N 2014/Q2] !
In the diagram a consumer's budget line shifts from GH 1o JK.
J {
G
quantity of
good Y
O -~

K H
quantlity of good X

Which statement must be correct?

A There has been an increase in the consumer's real i
B There has been é decrease in the consumer's real j
C Good Y has become relatively more expensive.

D

Good X has become relalively more expensive

Q27 [ [M/J 2015/Q2]

A utility-maximisin
clothing.

¥
RO
s

His

9 consumer spends the whole of

& 4
DR
The table shows the price of food, the quanlity p\‘ik’éﬂﬁ :
utility he derives from food consumption,

o foqds

price perunit  Higay,

quantity demanded
PRI 'ﬁﬂ R

argi L:ul_ﬂi

N

ng is ?‘Zénn's,, AT

WO e

_,(:loli";‘i

RO

What is the price of clothing per unit andthe quantity purchased by the consumer?

clothing
price quantity
i ($) (units)
A 0.5 30
B 1.0 15
c 3.0 S
D 5.0 3

Q28 | [M/J 2015/Q3]

For the purposes of measuring the income effect of a change in the price of a good, what is not
held constant?

A consumer preferences

relative prices

B
C the consumer's money income
D

‘lhe consumer's real income

A AT TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Q29 | [O/N 2015/Q2)

The agam shows an idwiduat s ool LS U AV E R S R VU

/’ \ h\\;\l
ol Uiy
vy

numbe ol plasses
bl uiew

QO

How can th | i I
Can this information halp o detive the fneividuet's domand cupve e ol julee

A by tevealing the individual's marginal utility curve
B by revealing the money valae of macginal ulilily
€ by showing how total ity 18 maximised

D

by « i Nationshi
Y Shawing the re ‘\\ll\\l\\hlp Detwern ity and sxpendite

R

| Q30 | [oin 201';/()11

Inthe dingram, PQ is o [NARAYINTRY \\nuln.ﬂ l\\umul line,

16! 1
quantity of Y f‘\

‘N 4

» QN -1 ;n\“? .
0 10 “0 x:‘: y

!
]

q nnhw ul \ 0\

. . i \ W

The consumar's income incraases lrom S80 (o $120 mliw llxn\ e line, the |\1 }vn\‘

. \ LY\“ LA N\
ehange, Sl i
‘« el B

L\'u(t il \

Il the consumer's budgel line 15 now RS, what ae N i\nrus of X and \V7?

o 0 @ »|

Q31 | [MIJ 2016/Q4]

In the indifference cuive xli.u)rmn pmnl M 15 tha consumers nital equilibedam and MN s he
substitution effact of a fallin the price of good X,

Hgood X Is a Gilfen good which point will be tha cons mer's now equilibinm point after tha fall iy
the price of good X7

qood Y

CHAIT YW

l"l \
il “1

x\l
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A2/ MICRO — [MCQ] — CHAPTER 1

wo goods, X and Y.

Q37 | [WiJ 2016/Q5]

To maximise the satisfaclion he derive
a consumer should allocale his expenc

s from a given level of expendilur: nlm 1
filure belween the two goods so tha

i f = pri s
A marginal utilty of X = price of X and marginal ulility ol Y = priceé of

B marginal ulility of X plus marginal ulility of Y is maximised.
C marginal utility of X = marginal ulility of Y.

marginal utility of X _ price of X
marginal utility of Y price of Y.

D

Q33 | [O/IN 2016/Q4] f
What will happen if, in response to a fall in its price, a consumer buys more 0l 8 g

ood?

A afallin the total utility derived from consuming the good

B a movement along the consumer's demand curve
C arise in the marginal utility derived from consuming the good
D

a shift in the consumer's demand curve Q"*

Q34 | [O/N 2016/Q5]

The diagram shows two indifference curves and two by

What does the movement from F to G represent?
A the income effect of a price fall for X
the price effect of a price change for X

B
C the substitution effect of a price fall for X
D

the substitution effect of a price rise for X

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/MICRO — [MCQ] — CHAPTER |

Q35 [ [M/J 2017/Q4]

The dia :
gram shows two indifference curves for a consumer.

good Y

0
good X

What c;n be concluded if the consumer's equilibrium moves from Q to R?
A The consumer is acting rationally.

B The consumer's money income is unchanged.

C  The opponunity cos! of good Y is conslant.
D

The price of good X has risen.

)
P
Al

Q36 | [M/J 2017/Q5]

When the price of a good falls the effect on thig},q 2 ully demanded is the result of an income
effect and a substitution effect. ﬁ (.;5,15

Which statement about these effects is corre;:‘f?'

A '__L"Jbsﬁt 4 offect work in the same direction.

For inferior, but not Giffen, goods the, mcqme effechoutwetghs the substitution effect.

‘x e

AN

B
C For normal goods the income effect and subshlutson effebt work in the same direction.
5 N

In the UK in 2015.th

\%.“ iy Sat

2 a pnce per I|tre of water used

It has been observed that the amount of water consumed is markedly lower when method 2 is

used.
What is implied by this observation?

A Waterin the UK is not a scarce good.

Water is a free good of nature and no charge should be levied.

the use of which should not be restricted by unit prices.

B
c Waterisa necessity,
D

Water is subject to the law of diminishing marginal utility.

AATIK TASNEEM| A2-LEVEL: ECONOMICS (9708) | 03041122845




A2/ MICRO — [MCQ] — CHAPTER 1

Q38 [ Mg 2018/Q5] =
T <018/Q5 — -
What would not affect the budgel line of an individual consumer?

A lhe individual's preference lor various goods
B the level of income tax

C ihe Money prices of goods
D

the wages earned by the individual

| Q39 [ Mg 2018/Q6

The diagram shows the demand curve for a product.

What is maximised at X?

A marginal revenue
B total revenue

C marginal utility
D

total uility

[ Q40 [ [O/N 2018/Q4]

Z=:

The diagram shows.budgel.lines.a
The prig e fall =

ol K L
good X

Which combination of statements about the movements in this diagram is correct?

T to Q represents perfect elaslicity; T to P represents a Giffen good

A

B T toRrepresents anincome effect; R to S represents a substitution effect
C T to U represents a substitution effect; T to Q represents a normal good

D T toU represents a substitution effect; U to P represents an income effect

\ATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/MICRO — [MCQ] — CHAPTER 1

Q41 | [O/N 2018/Q5] : ‘ = =y
The diagram shows various combinalions of apples and rice which are potentlially available to a
consumer.

apples
PP X
Z
W
Y
o rice

If standard indifference curves were added to the diagram they would show that the consumer is

indifferent between combination X and combination W.

Whalt can be concluded?

A The consumer is indifferent between combinalion Y and combination Z.
B The consumer is indifferent between combination Z and combination W.
C The consumer prefers combination Y to combination X.
D

The consumer prefers combination Z to combination W}%

Q42 [ [M/J 2019/Q4) iﬁ’%‘*

The graph shows the total utility (TU) obtained by a
of one hour. %

total utility

Q43 [ [M/J 2019/Q5]

The diagram shows budget lines for normal goods X and Y.

P
good Y

good X

What could cause a budget line to shift from PQ to PR?

level of
price of X price of Y consumer
incomes
A fall nse fall
no change rise no change
rise no change no change |
1
D rise nochange | rise ___‘_,‘

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845



A2/ MICRO — [MCQ] — CHAPTER 1

Q44 [ (Mo 2019/a8

?lconsumer Spends all of their income on two
alls and the price of Y remains constant.

goods, Y and X, and is at position E. The price of X

The graph shows indifference

_ curves and budget lines whi
'Ncome and substitution effecls

ch are used to determine lhe price,

that are related 1o this price change.

A XX, B XX,

Q45 | [O/N 2019/Q4]

What is it called when a consumer's marg y is greaterahan the price paid for the good?

A a Giffen good

B aninferior good
C consumer surplus
D

producer surplus___
E 2 .mﬂ‘a’ = B

Q46 | [OIN2019/Q5] - W

N U o = ey = - ¥
A consumer has $3 to spend each day on chocolate bars or toffee

il

bars, which al

SPEP .

| cost é?‘éach.

The table below shows the units of additional salisfaction she gets from consuming each bar.

1* chocolate bar 2" chocolate bar 3" chocolate bar
16 13 10
1* toffee bar 2" toffee bar 3" toffee bar
14 12 9

What should she buy to maximise her total utility?
A 1 chocolate bar and 2 toffee bars
B 2 chocolate bars and 1 toffee bar
C 3 chocolate bars
D

3 toffee bars

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845

a O

y 2 a . t\ Q\\ ‘\Q\ = \i\‘\



A2/ MICRO — [MCQ| — CHAPTER {

Q47 [ [O/N 2019/Qs]
The curve JK in the diagramis a consumer's initial budget line.

good Y

0O H K
good X

Which combination could cause the budget line to shift to GH?

price of good X consumer's
money income

increase ‘ increase

B decrease decrease

| C increase decrease
‘ D decrease increase

a3 i 5

oo

xR veomm -

R —

Q48 | [O/N 2019/Q7)

The diagram shows a consumer's indiffe:g
consumer's budget lines.

good F

© good G

What could explain the movement from X to Z on the diagram?

A afallin the price of G when G is an inferior good

B afallin the price of G when F is a Giffen good

C afallin the price of G when G is a normal good

p afallinthe price of G when G is a Giffen good

/

mEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/ MICRO — [MCQ] — CHAPTER |

I I N VAAJASN S AANS AN 2
AOAI! ‘:Il ] 11 N‘/ VV‘-'UJ

Ql |p

i i n different goods with given
A rational consumer is in equilibrium when he spends his ﬁﬁilggghm;oood is equal.
prices in such a way that MU of the last unit of money spen

Mux _ MUy
Px Py
T inal utilit
STEP 1: Equate the marginal utility of money and find the missing margina y
— Muy
N
MUy = 12
) . d that the
STEP 2: Look from the table on which quantity is the marginal utility 12. It should be noted th
difference in total is the marginal. : ili
Quantigx of Good Total Utility Marginal Utility o
1 24 24
I 21
3 63 18
4 78 ‘ 15 -
5 : ) 12
6 9
Hence the answer is 5 units of the

Key Point: Whenever the words “marginal util

is given. Always use this equation [ g = @
X YZE

[M/J 2008/Q2] |

was the same he is now consuming

Key Point:
1. “Price” causes a

purchase larger quantities of both
X &Y hence this is due to rise in consumers real income. Option A

would shift the budget line inwards
and hence is incorrect. Option

B & C would finally result in an increase in real income,
Common Mistake: Some students
increase is only showing that incom

income takes inflation into account,

got confused between real and mo
€ went up without taking inflation in
Hence it should always be taken in

ney income. Money income
to account, whereas reg|
the answer,

O/N 2008/Q3

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 0304119701



A2/ MICRO — [MCQ— CHAPTER 1

—e———

[@4 [B
en answer

This question i
s nis anpl n
choices. T plug in quest
he ones that will beclclnorrr\]éveyc?ug?ed lcl’dcfilculate the marginal utilities for the giv
would be the answer.

Option A: L2z 14
"3 ;t?l 3.67 #2.33

18

Option B: 2
f3ET13=3

Option C: 2 &

Option D: 2 # 28

ption D: 5#11.67 #4.33

Q5 | C (M 2009/Q2]
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Q6 | A
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issing marginal utility
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Hence the answer is 2 units of the good.

er the words “margin

al utility of money” or “marginal utility of the last dollar spent”

this equation [ -~ = 5,

is given. Always usé

Key Point: WheneVv
MUX _ MUY 1 45 solve the question.
[O/N 2009/Q1] |

Combination T is
s getting better 0
& D are incorrect because at new prices

r
| income. Option B

_/,////—,Eﬂc
only attainable after the changes and since this was not previously available this will
ff. Option A is incorrect because changes in prices of both the

products have al
r more X than Y.

lead to consume
tered consumers rea
[O/N 2009/Q2] |

consumers prefe
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T , g
C ent from the prewous ones. Here the Marginal utility is just shown as a diagram an

There is no differ
not as a table. The rest of the steps is the same.

MUX _ MUy
Fx P.V
STEP 1: Equate the marginal utility of money and find the

MUw
3=

Ux 30

missing marginal utility

STEP 2: Look from the graph on which quantity is the marginal utility 30. Hence the answer is 6 units

of the good.
Key Point: Whenever the words ' 'marginal utility of money” or “marginal utility of the last dollar spent’
is given. Always use this equation [ —x = Pﬂ ] to solve the question.

[M/J 2010/Q1] |

[@9 [A
A shift from GH to JK shows that a lower quantity ofg( is being consumed because increase in price

of X and a larger-quantity of Y is being consumed ’L'{ to decrease in price of Y. Option B is incorrect
because price for only Y fell. Option C & D cannote goncluded as we don't know the relative price

change.
[M/J 2010/QJJ

[Q10] A
STEP 1: Equate the marginal utility of money;?

MUx
3=
5

MUx =15

nissing marginal utility

tility 15. It should be noted that the

difference in total is the marginal.
Quantity of Good

Marginal Utility

N[O [D (W[N]

Hence the answer is 3 units of the good.

Key Point: Whenever the words “marginal utility of money” or “marginal utility of the last dollar spent”
is given. Always use this equation [ ——x = Muy ] to solve the question.

[O/N 2010/Q2]

Q11 C
Increase in pnce of X with no change in Price of Y would shift budget line pivotal inward on x axis and

an increase in income would shift the budget line pivotal upward on y-axis. Both Option A & D would
not shift the budget line hence point N remains unattainable. Option B is incorrect because a

decrease in Px and increase Py would result in an increase in quantity of X consumed.
[O/N 2010/Q3]
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A consu
mer reach
es maxi : ,
aximum salisfaction from his expenditure if he puf
omes equal.

point where util
ity from the last money unit spent on each good bec
MUx _ MUy

Px Py

zero the total
w . .
there is only Ongu;g:(f r;:axnmuzed. This reasons this answer i
, however a consumer chooses multiple go

Q13 [A
Ad i i
ecrease in money income with no change i

n price of good X wou
fgood Y, which is mo

Q14 | A

y curve

consumpti i .
ption increases the utility declines. A normal deman
because each,additiona

poa);a Iow_er‘price for every next unit
ption B is incorrect because choices of products:if‘,??fer to PED. OP
. el

demand cure.

Qi5| D

Income effect of a price change is m
other than real income can vary.

Q16 | C
STEP 1: Equate the marg
3= MUx

4

MUx = 12

STEP 2: Look from the table on whicki

difference in total is the marginal.

o|n|dalwin|a

Hence the answer is 4 units of the good.

henever the words “margina
Mux _ MU .
= MY o solve the question.

= —
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this equation [—P;— B

is given. Always use
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re than the fall in moneé
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wouxllds.céussl?:“aneous reduction in the price 0
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y income,
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O/N 2011/Q1

O/N 2011/Q4] |
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Q18 | D
A consumer reac
point where utility

hes maximum satisfaction
from the last money unit s

MUx _ MUy
Px Py

from his expenditure if he purchase
pent on each good becomes equal.

s the goods up to the

[O/N 2012/Q2] |
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- he price of good X fell.
Lats [C tity of good X suggests that increase in real income, this happens the P
uantity of g ™
l/?ilta\;/%es?eal inc):/ome the curve would have taken a parallel shift [O/N 201 2,03]
]

Q20 Lt i5Si inal utility
rSTEPI 1: Equate the marginal utility of money and find the missing marg

g = MIX

T
MUx = 12

: il be noted that the
STEP 2: Look from the table on which quantity is the marginal utility 12. It should
difference in total is the marginal.

| Quantity of Good Total Utility Marginal Utility
[ 20 20

[2 36 16

[3 50 14

[4 62 12

[ 5 72 10

L6 80 ) 8

Hence the answer is 4 units of the good.

Key Point: Whenever the words “marginal utilit

is given. Always use this equation [g = B:,ﬂ
x y

[MIJ 2013/Q2]

ifted in a way that there has been an
indicate cause of pivotal shift only for
).and the other one is decreasing.

Key Point: Always remember whenever

Sn
price of one good is increasing then the:
A3

"answer thet’.}.az%@ggglative is written it means that if

¥ of the other g’j ;@__ecreasing.

[M/J 2013/Q3)

STEP 2: Look from the table on which
difference in total is the marginal.

quantity is the marginal utility 12. It should be noted that the

Quantity of Good Total Utility Marginal Utili
1 ] 24 24 = L
2 45 21 ]
3 63 18
4 78 15
5 90 12
6 99 99
Hence the answer is 5 units of the good.

Key Point: Whenever the words ‘marginal utilit

oo na utility of money” or “marginal utility of the last dollar spent”
is given. Always use this equation [ P—xx = PVY ] to solve the question.

[O/N 2013/Q2)
Q23 | B
A changein equilibrium to point N suggests a pivotal outward shift on X-axis, possibly due to a fall in
price of Y and a simultaneous rise in price of X.

[O/N 2013/Q3
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good Y will
e curve inwards Thlfal(i to a pivotal upward shift of the y-axis. While a decrease in
. This is because Price of Good X cannot change.
[MIJ 2014/Q2]

A deCrEBS .
. ein i
income shifts t|prllei for

| Q25 [A
We sim
ply put th
and which e values into the
one the consumption sl?gtl;lz:jngg (tic;sree(;:vehgch good the consumption should be increase

MUB _ Mua
i

< —

1 2
1 050

nas the consumer would be

Hence b
) ' Dy consumi
In equilibrium. ng more apples and reducing the consumption of bana

Key Point:
t: Consumer strategy to maximize ulility

Sltxuation 1 IXimiz
—=> % Sbtxuat:d%n 2
y s e
- Consume More X e Py Px Py i
- Consumer Less Y - Consumer More Y - Quantity X unchanged |
- Consumer Less X - Quantity Y unchan ed !
Py O/N 2014/Q2] | ,

expensive and Y is
direction. Option C

Q26 [ D : :
Since now - s

the consume is consuming more of Yiatidiless of X this shows that X is

Bhids)are moving in the opposite

Foth

~l{‘{l’ ‘

‘ﬁ%word relative is written it means that if

&

N
&3’3 ood is decreasing.
: [O/N 2014/Q2]

g SRR
Key Point: Always remember whenever in tr{{?g%la‘ %ﬁk}
I‘é I.f. : \[

SRS S

Q27 | B
We simply needed to put
missing variable.

MUF _ MUC
PF PC

and gua
1.an0 {4 a

We ﬂplci"‘;p"r‘i'c':gv;as' the missing:yal
consumed. AT

s of a change in real income, hence everything

D
Income effect of a price change is measured in term

other than real income can vary.
M/J 2015/Q3

and curve. Hence that raté of change of

demand curve.
OIN 2015/Q2

ndividual dem
d to derive an individual's

can be derived through the i
sures MU thatcan be use

The demand curve
Total utility curve mea
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Q30 | B ettt S it i, SRR ST sumin quantity of Y to be
| We silmply need to equate the values in the budget line equation. First as g
zero and then assuming X lo be zero.

) To find Price of Y
[_Quantity of Y to (0) > To find Price of X Quantity °fox o (102)09
Px (Qx) + Py (Qy) = 120 Px (Qx) + Py (Qy)
Px(20) = 120 Py(12) = 120
Px=6 Py =10

Answer A is the correct choice. [O/N 2015/Q$|

Q31 ] A

- i by the income
Always remember for a Giffen good the substiution effectis completely outweighed by
effect. Hence option A.

Key Point: Following is a quick guide to identifying the effect on indifference curve.
Good Type Change intcis alwavs
1. Normal Good | a> b [Substitution effect] b - ¢ [Income effect]. The new point ¢ Is alway

ahead in the same direction of b. =

2. Inferior Good |a = b [Substitution effect] b > ¢ [Income effect]. The new point ¢ is always

| going to be between point a —.

3. Giffen Good

a > b [Substitution effect) b 2C{Income effect]. The new point ¢ is always
going to be before pointa. Afi

— A movement on the indifference curve is th

2", 3slitition effect
— A shift to the new budget line is the income 5§

[M1J 2016/Q4]

Q32| D

The standard formulae for consumer equili
answer.
MUx _ MUy

multiplied and rearranged in the

—-- can be arranged ns XY - Px g
Px Py “ Muy Py

[M/J 2016/Q5]

Q33 [ B

According to the theory a change in price causes a movement along the demand curve. Option A & C

are incorrect because:higher ¢ mption cayses:MUo fall-put.TiHso § certainpaint. Qption D
.. Sig2 S i il v SO Py = 5

S s ey

40 non-piice fafirs n

Q] c

Since it is a movement in the indifference curve it is showing substitution effect. Since consumption is
increasing towards X that means that the price of X has decreased.

[OIN 2016/Q5]

Q35 A

The higher the indifference curve the greater the utility. Consumer therefore acts rationally when they
shift the equilibrium to the highest possible indifference curve.

[MIJ 2017/Q4]

Q36 [ C

In the case of normal goods both the substitution and income effect work in the same direction.

ints: . - :
Terylo':;lgl Goods - SE is Positive and Income Effect is Posﬂnve [Ouaptlty of Good X ]
2' Inferior Goods — SE is Positive > Income Effect is Negqtlve [Quaqtnty of Good X 4]
3' Giffen Goods — SE is Positive < Income Effect is Negative [Quantity of Good X V]

[M/J 2017/Q5] |
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Nce My - in point where
of v fe \ ond a certain p
of morwey\;f‘c‘f diminishes therefore people do not consumer waler beyond ¢

"atthey pay for it equals MU of an additional unit of water.

Key Point: Co

an the point MU = P. (OIN 2017/04]
| Q35 A ——

A budget
n e s =
of goods. Heenacgun? that only changes because of TWO things: (1) Income of the consumer (2) Price
option A'is correct. Option B, C & D are all reasons to shift the budget line.
M 2018/5] |

Q39 [ p

The dema
nd curve | - - ——
total utility is maxifnl;:;m the marginal utility curve. Hence a point where Marginal Utility is zero the

—
Q40D [M/J 2018/Q6] J

A movement frg
always due to

B N e

TR

hm Tto U W_as the substitution effect because a movement on the indifference curve is
e substitution effect.

A movement from
curve hence making

@0 P represents the income effect because after U it went to a new indifference
itan income effect. 5\

-
.
ﬁ
N

.

[O/N 2018/Q4]

R,
{and;passes through points X and W. Hence
€d. Option A & B are incorrect because all
ity and Y & Z don't lie on the same curve

Q42 I A G 9 v 8

Marginal utility is the gradient of the FUittve. Hence a po‘g ;gh: re the gradient starts to fall the MU
will decline. Hence after 3 units we ge: the gradient starts to decrease as the curve starts to get
flatter.

043.'[ = = =% FS Seee] S 81 o) ey ;‘\\\ —— . \._
Since there is a pivotal shift there is only a change in price. Hence since the quantity of X'decreased
that shows that the price of X increased and there was no change in price of Y and level of consumer

income. [M/J 2019/Q5]

Q4 C | R |
is shown by a movement of a point from beyond the substitution effect to the new
Income effect . ffect resulted in X1 to X2 and from X2 to X4.

indifference curve. Since the substitution e (MIJ 2019/Q6
T\Q/‘I4U5c!1r3e is also the demand curve hence a point on the demand curve that is above the price is ;
called the consumer surplus. [OIN 2019/Q4 :
|
|
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Q46 [ B
Total Utilities can be obtained by adding the marginal ones.
to see which option gives the highest total.

Hence we will calculate for every option |

(A)16 + 14+ 12=42
(B) 16 + 13 + 14 = 43
(C)16 + 13+ 10=39
(0)14+12+9:35

marginal utilities for all the options.

Key Point: In order to get total utility we simply need to add all e 0 sIaE

Q47 | A

If the price increases it will shift the point inside the curve.

When the income increases it shifts the curve parallel to GH. o7k 2015785

Q48 | A

Always remember a movement on the indifference curve is due to the ubstitution effect and a shift to
oint is in the middle that shows

another indifference curve is due to the income effect. Wheneverap
increased from X to-Z.

that good is inferior and the price of ; umption i
price o G decreased a{,’rfpe consump O p—

s,

ez,
[T
b

AR
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ARl 3
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| QT | [M7J 2008/G8]

w

S hat is the name for the relationship between a firm’s outpul and the quanlities of factor inputs
that it employs?

A a long-run production function
B along-run average cosl function
C produclive efficiency

D returns to scale

[[Q2 T[m/J 2008/Q7]

Which diagram shows a firm’s tolal fixed cost curve?

i A B

costs costs costs

o) output

e output o output

Q3 | M/ 2008/Q8]

B
(04
D

B
C As employment increases, wage rates will have to be increased.
D

As output increases, eventually diseconomies of scale will occur.

Q5 [ [O/N 2008/Q7]
When a firm increases all its inputs by 300 %, its output increases by 200 %.

What does this illustrate?
A the law of diminishing returns
B increasing returns to scale

C diseconomies of scale

D the law of variable proportions

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 0304] 122845 1
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T S

G5 | {oN zo0w7ag]

The tla
ble shows the production of a firm

procduction (lonnes lolal co
st
) (S) |
1
1
i

0 : 20
1 30
| 2 35
3 40
4 45
5 50

What is the ;
average variable cost of producing 5 tonnes of outpul?

A $4.00
B $5.00 C $6.00 D $10.00

Q7 | [M/J 2009/Q5]

An economi
mist calculates thal a firm has incurred the following costs

over the course of a year.

| | $(000)
— ar
wages and salaries éf%’i?ﬁ 150
. L:i’r 'i's |
opportunily cost of owner's lime 5;% ‘ 40
. 2!

materials
renl
marketing fees

interest on bank loans

accountant?
Z5/000 D $86.000%:

A $15000 B $40 000 oitis

average cost has risen.

What could account for the change in its long-run average coslt?

A diminishing returns

external diseconomies of scale

B
c managerial diseconomies of scale

D technical diseconomies of scale

Q9 | [OIN 2009/Q3
ent describes a situation in which a rise in input of factor X, all other factors being

Which statem
constant, results in NO changeina firm's output?

There are diminishing returns to factor X.

B Returns to scale are constant.
c Therearé diseconomies of scale.
p The marginal product of X is zero.

A2-LEVEL: ECONOMICS (9708) | 03041122845
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Qi0 [ [O/N 2009/Q8) _
s the inputs of the two factors of production, capital and labour. needed lo

The table show
produce varying levels of output.

oulput  capilal  Iabour

100 5 10
20 8 16
300 14 .28
a0 | 20 | 40
s0 | 26 | 52

Over which output range do increasing returns to scale occur?

A 100 to 200 B 200 to 300 C 300to 400 D 400 to 500

Q11 | [M/J 2010/Q6]

The schedule shows the short-run marginal cost of produg‘ng good X.

[unils of X P12 Iéﬁi 5 l
] ] At

-

| marginal cost (5) | 40

Given that the total fixed cost is $20, what level of gl

A 2units B 3units

Q12 [ [M/J 2010/Q7]

Which is an example of an external diseco

A difficulties in co-ordinating activities ir

e

.;g’ganlsahon

B
c
D

Q13 [ON2010/Q8] &, & i oo 0 &

In the diagram, the curve shows the various combinations of labour and capital that can be
employed lo produce a given level of output.

A firm chooses the combination of labour and capital shown by point X on the curve.

capital

0 labour

What couid explain why the firm later chooses th
point Y?

e combinalion of labour and capital shown by
A anincrease in capital productivity

B anincrease in interest rates

C anincrease in labour productivity

D

an increase in wage rales

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845




I

.-

A2/ MICRO — [MCQ] — CHAPTER 3

N\u |
Hogiam ur
MhOwy

L him's WO matgingl cosl curyn

(MG

O

| output
Vhat explai
ARG Why the curve i
| Ve curve is upward sloping at output levels sbove 007
A diseconomies of scale
t nelastiony of Supply

A
Consing tived couly

)
D e law of vaiable pmpmlmn‘

Qf AU 201104
l\]\‘:‘l“ h ‘:"“’“"“ correctly shows the relationship boly
ainal product (ME) of labour given that the (]nnnlnl

=

==
5‘_“5

product

N
L I\uhmu

e ———————

-
¢ I \hour

0 labour

Q16 | [MAJ 201 2011/05] L -
What is the name for tho rulallonahlp botweon a firm's Uulpul and the quantities of factor inputs

that it employs?

A along-run average cost function
B along-run production function

¢ productive officiency

D roturns lo scalo

AATIK TASNEEM [ A2-LEVEL: ECONOMICS (9708) | 03041122845
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[Q17 [ [O/N 2011/Q7]

The table shows the levels of oulput of a good which can be produced with different combrnations
of labour and capital

capilal ' labour oulpul
(number of machines) (number of workers) (units)
2 | 6 100
2 7 106
2 8 108 _
4 | 12 \ 200 |

Which characteristic of the production function for this good does the table show?
A afixed ratio between capital and fabour inputs
B constant returns to scale

C increasing marginal produclivity of labour

L D technical economies of scale

Q18 | [O/N 2011/Q8]. ,5;

The short-run total costs (SRTC) of a firm are given by the formu

SRTC = 5(10 000 + 5X?)
where X is the level of output.

What are the firm's average fixed costs?

A $10000
g $(10000+5x?)

X
c $10000
X
p $10000
5X?

Q19 | [O/N 2011/Q9] _

i n@jn marké

b L\‘s- et

the mcreased nsks ansnng_from product dwers't"catvon

B
C the increasing costs of distributing goods from a given location
D

the increased difficulties faced by the management in coordinating production

Q20 | [M/J 2012/Q5]

A firm experiences diseconomies of scale over its entire range of output.
What is the shape of its long-run average cost curve?

A ltis horizontal.

B Itis'U’ shaped.

C It slopes downwards.

D Itslopes upwards.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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5 Q21 M/J 201 2/Q6
Which i : ;
L ich is a financia) economy of scale? j
N
A lower costs in raising capital
§ B lower costs of markeling
c | \ .
L : ower risk due lo diversification
) lower variable costs of production
, (?riz M/J 201 2/Q7) :
N\\ e table shows a firm's tolal costs of production.
= proguction (tonnes) | total cost (5)_|
0 40
= 1 : 60
N 2 70
= 3 80
5 4 90
. L . | 100

J
1

materials

rent

otal cost as defined by an

By how much does total cost as defined by an economist exceed the t
accountant?

A $75000 B $45000 C $35000 D $10000

Q24 | [M/J 2012/Q9]

2m shows a firm's short-run and long-run average cost curves.

TN EEEREEEREEREE

The diagr:
J K M N
cost
L
@ output
\Ahich cupve is the firm's long-run average cast curve?
M C KLM D KLN

/
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|Q2s | (Mw20120Q18]

The diagram shows a firnY's short-run total cost curve (1C)

tolal
cosl

output

Whal is minimised at output 0Q?
A average fixed cosl

B average total cost B
C average variable cost
D

marginal cost

Q26 | [O/N 2012/Q8]

llowing cosls over the

By how much does total cost as defined by an economist exceed the total cost as defined by an
accountant?

A $15000 B $30 000 C 345000 D $65000

Q27 | [OIN 2012/Q9]

A manufacturing firm has one plant of oplimum size.

The firm builds a second plant identical to its first plant, The firm then finds that its long-run
average cost has risen.

What could account for the change in its long-run average cost?
A diminishing returns

B external diseconomies of scale

C managerial diseconomies of scale
D

technical diseconomies of scale

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Hl 15 Moy RS o
most. "k”‘Y 10 bo 1 associaled with a firm thal is growing rapidly?

A ahigh rale of |

abour turnover
B alow level of ne
C

D aw ainment of 1ha necoss
—

Linveatmanl
alow pe g
percentage of profits paid as dividends to shareholders

ary condilions for allocative efficiency

Q2
Q28 [y 201377,

An econon (oh] h
vist a ala 1 h
g ICU'r les thy |7 ’l”] hclﬂ 'nCU"Gd lhe ’O”O\Hl”g cosls over the course Of the year,

[ o | $(000)
wages and salaries i 150
opportunily cosl of owner's lime I 40 l
malerials 4) €0
rent of buildings [‘! 30
marketing lees | 20
interest on bank loans 25
interest forgone on ﬁnnnce provided by oﬂfﬂ F%;i 15
dcprﬂcmlmn of qupmr‘nl ’

By how mL{ch would the economist's calculation of th
accountant’s calculation of the firm's tolal cosl?

A $15000 B 540000

Q30 | [M/J 2013/Q8]

The diagram shows the long-run average cost curv

]
H

i
1,
.

Which economic concepls in the table explain the shape of the LRAC curve?

: f economies and the law of the law of !

| ' diseconomies | diminishing variable I

of scale ! returns proportions |

[ Al s | v X |
|

12 A x|
|

¢ | x ‘ v Y {
| | i

| D | X ! X / ,

Q31 | [M/J 2013/Q9]

Which feature of an economy would be most favourable for the survival of small firms?

A capital intensive production

B economies of scale in production
C Ihe presence of a stock exchange
D

the widespread availability of bank lending
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iz | o 20130

The 1h € ahewes o lem g tang-run ot cn 81 scheaula

cutpol ol goods
zer Mot
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160 100
200 120
300 150
400 200

Which graph thows the shape of the fum's 1ong-run average cost curve?

' A Il
LRAG ]
\ / [
X /
ronl \_ / ol }
\'~
I~ -
0 outpul 0 autpul
C

e LRAC

e] culput

A2 1 MICRO — [MCO)

LRAC

Q33 [ [O/N 2013/Q8]

In the diagram. TC is a firm's short-run total cost ¢

urve.

Which statement is correct?

ed at output OQ;.

A Average lotal costis minimis
B Average variable cost is minimised at output OQs.
C Average variable cost is minimised at output OQs.
D utput OQy.

CHAVIEI ]

Marginat cosl is minimised at 0

Q34 | [O/N 2013/Q9]
What is an internal diseconomy of scal

a more complex decision-making process

an increase in the cost of raising finance for investment

B
C anincrease in traffic congestion
D upward pressure on wages in the focal iabour market

e that often arises as a firm becomes larger?

S DRI
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[ Q35 | mrJ 2014103

The lable shows the oulpul of chairs al a factory when dillerent numbers of workers are
employed.

nkjmberorworkers 1 2 E 3 4 ’ 5

number of chairs produced 6 17 |, 27 32 | 30

Diminishing marginal returns to labour will sel in when
A the second worker is employed.

B the third worker is employed.

C the fourth worker is employed.
D

lhe fifth worker is employed.

VL TR = R = L et s —.»d‘

Q36 [ [M/J 2014/Q7]

_The table gives information aboul a firm's cosls over a given range of oulput in the short run and
in the long run.

22 23 | 24 | 25

]

output (thousand) 21

|
i i I |
} short-run average cost (3) 20 ( 19 | 18, 17 | 16 |
i i
L !

13 | 14 15 | 16
Which conclusions can be drawn about the characleristicseﬁ-"" lion over this output range in
the short run and in lhe long run? S

long-run average cosl (S) 12

short run

A ! decreasing returns lo scale |

economies of scale

B
(& increasing returns
D

increasing returns

Q37 | [M/J 2014/Q9]

The average fixed cost of producing 5 units is S6.

What is the total cost of producing 5 units?

A 346 B S70 c $190 D $230

Q38 [ [M/J 2014/Q10]

What could explain why the proportion of total employment in an economy accounted for by small
firms decreases?

A alrend towards the use of sub-contractors to produce specialised components

B growing technical economies of scale in manufacturing

C growth of the service sector and a decline in manufacturing

o

the opening up of specialist markets as real incomes rise

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 —m




A2/ MICRO — [MCQ] — CHAPTER 2

Q39 | [O/N 2014/Q8
L Qs] T

The table below shows th i i
S ¢ relationship between total oulpul and lotal i
constant faclor prices and fixed factor proportions. P osts of 2 frm grven

outpul  cosls (S)
00 100
20 | 160 |
o300 1 180 f
- 400 ! 320 |
| 500 500 |

1

It follows that. over this range of outpul, the firm experiences

A decreasi i i
o 3050".19 returns for output between 100 and 300 and increasing returns for output larger

B :2::1838%19 returns for output between 100 and 300 and decreasing returns for output larger

decreasing returns throughout.

increasing returns throughout.

[ Q40 ] MIJ 2015'/04]

input is labour.

total product
of labour

=
T Bt} ;,’Ej

What explains the shape of the curve?

A diminishing marginal disutility of work

increasing marginal disutility of work

technical diseconomies of scale

O 0 w

the law of variable proportions

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 E
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B ThAAl s e————
Q41 M1 201577]

What relati : T . .
trelationship does a firm's long-run production funclion describe?

A irm'
the firm’s oulpul and the quantities of faclor inputs employed
B the firm'
the firm’s long-run average cost of production and the level of output
Cc irm’ ;
the firm's long-run average cost of production and the quantities of factor inputs employed
D

L the prices of factor inputs and the quantities of factor inputs employed

Q42 | [M/J 2015/Qg]

The table shows a firm's total and marginal costs.

output I total cos{($) | marginal gost (S)-"
1 340 | 40 ?
2 ars | 35 '

3 400 25
4 435 35 |
s loas L w

What is the average fixed cost of produ'cing 6 units?

A 850 B $60 C $180

Q43 | [M/J 2015/Q9]

A firm experiences external diseconomies of scale 3l preasmy-raturns o scale.
7 =

‘7 shift in long-run
average cosl curve

downward
downward

upward

o O o P

Q427 [OIN2015/Q5]

Which diagram correclly shows the relationship between the average product (AP) and the
marginal product (MP) of labour, given that the quantities of other factor inpuls remain constant?

A B
MP
MP AP AP
average average
product, prodgct,
marginal marginal
product product
0 labour o labour
(o} D
average average
producl, producl.
marginal marginal
product roduct )
A’P MP P é :‘ WP AP
0 labour 0 labour

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 _m
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Q45 | [O/N 2015/Q8]
A fourold increase in all of a firm's inpuls resulls in a threefold increase in ils output.

PEN

What does this illustrate?
A decreasing returns to scale

B economies of scale ‘
C the law of diminishing returns '

D the law of variable proportions

Q46 | [O/N 2015/Q9]
A firm employs two factors of production. The table shows the marginal products of these faclors
and their respective costs al the currenl level of output.

i © land : labour

s

marginal : |
product (units) 3

. marginal cost per unit s |

| of factor ($) : |5
Which adjustment in factor use would be most likely t
combination of inputs for its current output level?

land labour

less less

more

A

B less more
e !

D

o 3
L Glinoe 2

B gre

C lower costs in raising capital

creasing market share

D lower distribution costs by in

Q48 | [OIN 2016/Q8
Which assumption is

made in calculating a firm's short-run production function?

A All factors of production are fixed.
All factors of production are variable.

The state of technology is fixed.

B
C
D The state of technology is variable.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845 -
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N e —

In :
the diagram, TC s a firm’s short-run lotal cosl curve.

f /

e

costs

o q Q, Q,

2

oulput

Which statement is correct?

A Average total cost is minimised at oulpul OQx. ,Q\
. A5

Average variable cost is minimised al outpul O?Y}Q;‘éz

R \

‘\Q\‘\\'. \‘\

B

C Average variable cost is minimised at outpul 9&{3‘3
ATHNN

D

A
A\
o

Marginal cost is minimised at output OQ..

Q50 | [O/N 2016/Q10]
The tzble shows the total cost of a firm.

V/hat is the average variable cost of producing 4 units of output?

A 310 B §15. c 320 D $40

ANTIK TASNEEM | A2-LEVEL: ECONOMICS (9708) [ 03041122845
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Q51 | [MM 2017/Q11]
The diagram shows the demand curve for a firm's product,

price

o outpul

Which diagram shows the shape of the firm's tolal revenue (TR) curve?

A B C D
revenue revenue revenue revenue
o output o output output 0 outpul J
Q52 | [O/N 2017/Q2) KRR
‘u
3.

In 2015, a large mining company said it would regi;’fbf :’l{uer of staff by 6000 and sell its less

profitable mines in an attempt to become more e

I lotal fixed cost total variable
cost
A fall fall
B fall fall
c
D

Q53 | JOIN 2017/05]

The diagram shows the cost curves for a firm.

price r MG

o) Q, Q,

What does the firm experience as it increases output from Qi to Q27
decreased average variable cosl
diminishing returns

economies of scale

o o o

increased profit

N
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AATI




A2/ MICRO — [MCQ] — CHAPTER 2

Q54 | [O/N 2017/Q7]

In i ;
omlgjldlagram the curve TC shows the relationship between a firm's lotal costs and its level of

total
cost

At output OQ average fixed costs are

A equal to OpF
QR

B equalto -Q—R.
oQ

C equalto QE.
oQ

D measured by the slope of the line OR.
|
Q55 [ [M/J 2018/Q8)
In the year ending July 2016, airline fuel pric the price of passenger aircraft
increased by around 1.1%.
Assuming no other changes in the pass hat was the outcome for fixed
costs and variable costs? A
[ fixed costs
B.
c.;:
D increased
AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 n
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Q56 | [O/N 2018/Q6] ]
The schedule shows the shor-run marginal cosl of producing good X.

!

!unitsofX |1 2 3 l 4

i L
| | 5
| marginal cost(5) | 45 | 40 | 30 | 20 |

|
20 |
Given that the total fixed cost is $50, which level of output minimises average total cost?

A 2unils B 3 units C 4units D 5units

Q57 | [O/N 2018/Q9]

Technological change reduces the minimum efficient scale of production in an industry.
What is likely to result?

A increased number of firms and increased size of firms

B
C  reduced number of firms and increased size Of;-
D

Q58 | [M/J 2019/Q7]
What defines average variable cost?

A total cost divided by the quantity of the vay

e
15

the addition to total variable cost byiéggd .,ig%}gpul
Q59 | [M/J 2019/Q8] .. AT M, T

A the Ie;/el o stock he by i
B the level of technology available
C the market price of goods
D

the output of individual firms in an industry

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 m
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A f‘irm has lotal produclion cost of $200000. Iis average fixed cosl is $120 and its average
vanable cost is $80.

What are the firm's total fixed coslts?

A $12000 B $40000 C  $80000 D $120000

Q61 | [O/N 201 9/Q8

A firm has the choice between five levels of output. The table shows the total cost and total

revenue of producing at each output level. The firm could sell whatever output it produces.

output total cost total revenue

(units) (%) (3)

1000 8000 10000

2000 12000 18000

3000 19000 24000

4000 23000 A 28000

S0

The firm decides to produce 4000 units.
What is the firm's aim?
A to maximise profit
B to maximise sales
C to maximise revenue
D

to minimise average costs

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 ‘m
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A e

TOPIC 1: PRODUCTION, COSTS, REVENUES AND PROFITS |

Ql [A
A production function shows how output will be affected by changes in the quantity of inputs.
[M/J 2008/Q6

Q2 |cC
Fixed cost is the cost that does not change with the level of output. Hence a parallel line to the x-axis.
[M/J 2008/Q7]

Q3 |B
Small firms exist because they supply parts of the products broduced by large firms at low cost.
t down. Option D is incorrect

Option A will prevent small firms. Option C will lead to a small firm to shu

because if the product is identical then the large firm will easily lead to a shutdown of small firms.
[M/J 2008/Q8]

Q4 | B .
As in the short-run only labor is variable all the other factors of production are fixed. Hence.w_h'en
employment to increases the ratio of capital to labor will fall. Option A is incorrect because lnlt.lally the
total output increases then falls. Option C is incorreg because wage is not held constant. Option D is

incorrect because diseconomies only occur in the lgag run and law of diminishing returns only exist in
the short-run. i

[O/N 2008/Q4

Q5 |[C _
The increase in inputs highlights long-run. Heng
diseconomies of scale. Option A is short-run )
increasing returns the inputs rise by a smalle
because law of variable proportion is a sho
returns.

Key Point:
1. Law of variable proportion and law of
2. Factors only change in the Iong-runz{é\f‘ €
3. Increasing return to Scale = Econoftiics of Scale
turns to Scale = Diseconomies of Scale

dDisEcanohiEs Bhly:i the?SHar

T =
Average variable cost is calculated by (AVC = VC/Q). At 5 tons the VC = 50 — 20 = 30. Hence 30

divided by 5 = $6.

Key Point: Always remember in questions where total cost is given, the amount written in front of
production 0 is the fixed cost. Hence for this question it was 20.
. [O/N 2008/Q8]

Q7 |C )
Economists consider both tangle and opportunity cost, whereas accountants only look at the tangible

cost and ignore the opportunity cost.
1. Economists Cost = 150 + 40 + 80 + 30 + 20 + 25 + 15 = 360

2 Accountant Cost = 150 + 80 + 30 + 20 + 25 = 305 [Ignores the opportunity cost)

Hence the difference is $55, 000

[M/J 2009/Q5]
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1.

A2/M|CR0~—IMCQI -C

. ; e Therefore
age cost only rises when there aré diseconomies of scal

ases its i 4 Aten . i arketing, prod
plants it makes it difficult to co-ordinate planqlr]g.afT;hort_run concep

i \ ding t i

> Outside 9 loarise in LRAC. Option A is incorrect because it is ”
incorrect ut]';eskt)usmesses control 50 it c%rl'n(?wnotAbIZ {Jnecgause of building a second plant. Option g
ale of technology is not changing.

Common m
istake:
happened i theake' Some students choose technical disecon

level of technoloreason was a change in technology. The firm builds an iden

i have
i fscale which would '
oL ide tical plant, keeping the

Q9 [p

When an j .

is Zeroanom(t:.rease_m_ factor leads to no increase in firm's output this means that the I first

increases 2 Icc)jn A'is incorrect because law of diminishing returns suggests that total pro

talks about nd then falls. Option B & C are incorrect because they apply to long-term an
short-term. As the statement suggests that other factors being constant.

o ///,;//%

Key Point: If the question states that other factors are constant that shows that it is talking about

short-run. If it states th i m
: at -
L all factors are variable that means long-run. OJN 2009/Q3

leads to a more than proportionate increase ir % A < Qutput 20% 1]

2. Constant Returns to Scale: This m\e‘énﬁ.ﬂ_;hat a propo"l& e increase in all factors of production
leads to an equal proportionate incre; 0 10%: = Output 10% M)

3. Decreasing Returns to Scale: THisimeans that a propattio te increase in all factors of

production leads to a decrease increase in output. {Input 10% 'T*> Output 5% 1]

(Y}

e

3 BE AT BIRUR

when the

uction and g9
t, Option B

marginal product

d the situation

‘ﬂ_/_//

Q10 | A : A
f-"w\"
We need to calculate the % change in input vs th&i%ichange in out Ut at all output levels:
Output % Chaq’"‘ llen uts % change in out ut
100-200 60 ARG, 100
200-300 75 50
300-400 42.8 33
400-500 30 25
Key Point: 4
1. Increasing Returns to Scale: This mv‘é onate increase in all factors of production

MC
—— - 20 :
EE—— 40 60 60
- 90 45
F— 30 120 40 =
- 60 180 45
L5________,.,_f_13(1__,____,_ 300 60

Key Point: Ifina question that have given marginal, then add them to find the total. If in a question
they have given total then find the difference between the total to find the marginal.

[M/J 2010/Q6]

Q12| D : _
the direct consequence of growth of “industry”. Option A, B & C all refer to

An external diseconomy is .
internal economies of scale because they apply to a single firm.

Key Point: Internal economies or diseconomies apply to a “firm". External economies or
diseconomies apply to the “industry”.

[MIJ 2010/Q7)
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Q13 [ B e ToCe of capital incr
Interest rate is the price of capital, when the priceé
capital with labor.

i Ther
Common Mistake: Some students choose Op.n'ﬁndgér:ase
labor productivity does not mean that the firm will decre

[O/N 2010/Q5]
hired. [©
Q14 l D . — neciz thzt 3 =2l in r=tums in m=
Law of variable proportion or law of diminishing returns D'Ugb:.rt:f:;s ‘io long—run. Of
product to the variable factors causes SRMC to rise. Oftlon <t doss not 272t SR
the slope of the SRMC. Option C is incorrect because fixed cost CO=

change with the level of production. [O/N 2010/Q8]

Q15 [ B

The relationship between the two curves is summarized below:
Marginal > Average - Averag
Marginal < Average > Averag
Marginal = Average #2Average Con

V=

(U

1]

[(M/J 2011/Q4]

(@16 [ B :

A long-run production function reflects the relat
inputs that it employs.

T

o1

wm
(@]

~~S
=AU

[¥/J 2011/Q5]

Q17 [ B

Number of machines rise from 2 to 4 (1009 o
increase). The output rises from 100 to 208

Q18 | C

SRTC =10 000 + 5X°

The 10,000 represents the fixed cost Sea order to get th
the quantity. 10,0QQ_/Q.

to grow. The reason Options A, B & C are incorr

constraints a firm's ability
scale.

ect is because they are not part of diseconomies of

IN 2011/Qg

M/J 2012/Q¢

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845

O/N 2011/Qs8
Q19 [ D
Managerial diseconomies of scale resultin a higher per unit cost therefore, constramic s F—————

|

—— ——————  [O/N2011/Qg) |
Q20 [ D
Diseconomies of scale lead to an upward slop of the long-run average cost curye.

M/J 201215
Q21 [A
Financial economy refers to a large firm being able to raise capital at lower costs.
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%

a

rlatl)Jlera]ict:ost equals to AVC = VC/Q

_0\s TC_FC=VC AVC = VCIQ
1 40-40=0 -

2 60 — 40 = 20 20—
3 70-40=30 _1_5_//—-—/
4 80 — 40 = 40 (1383 - ———]

|5 90 - 40=50 JZ-_E’—/

100 —- 40 = 60 _1.2,—’—/

T

ence itis $12 per unit.

@ M/J 2012/Q7
Q23 | B P [ ]
nts only look at the tangible

Economi :
mists consider both tangle and opportunity cost, whereas accounta

El:osEtcand igpore the opportunity cost.
L Acgnomlsts Cost = 150 + 35 + 80 + 30 + 20 + 25 + 10 =350
_Accountant Cost = 150 + 80 + 30 + 20 + 25 = 305 [Ignores the opportunity cost]

Hence the difference is $45, 000
MiJ 2012/Q8
Q24 | A -
cost curve is KLM. The reason of that

The long-run average Cost curve is JLN and shortgiin average
is that short-run average cost curve is tangent toAh@iiong-run average cost curve and long-run
average cost curve is always flatter than the shdiliffifizaverage cost curve.

Q25| C
By drawing rays from the origin we get the a¥
the curve slides up, if the gradient of the ray
the slope from the origin on VC curve is th

i

I the gradient of the rays increase
ownwards. Hence at output OQ

Economists consider both tangle and
cost and ignore the opportunity cost.

1 Economists Cost = 150 + 20 + 30 530 + 20 + 25 +15= 37
2. Accogntant Cost = 150 + 20 + 80 + 30 + 20 + 25 =325[Ign

Q27| C
Average costs rise because of internal economie

are not internal diseconomies of scale. Option D
remained the same as the plant was identical.
[O/N 2012/Q8]

e

Q28 | C
dends because they need more finances in order to spend on their rapid growth,“

Firms pay lower divi
[O/N 2012/Q10

Q29 | D
sider both tangle and opportunity cost, whereas accountants only look at the tangible

Economists con
cost and ignore the opportunity cost.
5+ 15 +20 =380

1. Economists Cost = 150 + 40 + 80 + 30 + 20 + 2
2 Accountant Cost = 150 * 80 + 30 + 20 + 25+ 20 =325 [Ignores the opportunity cost]

s of scale. Opton A & B are incorrect because they
is incorrect because the state of technology

Hence the difference is $55, 000
[m/J 2013/Q7
AATIK TASNEEM | A2-LLEVEL: ECONOMICS (9708) | 03041122845 n
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Q30 | B |
-

T'he_ reason for the shape of the LRAC is always economies and diseconomies of scale. Law of

diminishing returns or law of variable proportions are short-run concepts. ‘

[M/J 2013/Q8

4

Q31D
Lack of f!nance i; the major problem of small firms. Hence if lending options are available small firms
can survive. Option A, B & C all relate to benefits only large firms can acquire.

M/J 2013/Q9

YY)

Q32| C
We need to calculate the trend in the average cost to see the graph: =
Output AC =TC/Q

100 100/100 =1 g—-l —
200 - 120/200 = 0.6 /
300 150/300=0.5 f—
400 _ 200/400=0.5

Hence the cost is continuously falling with the output and then getting stable, hence curve C shows -

the right trend.

- ) O/N 2013/Q7 —
Q33 [C ' : f% _
At Z?TOSOUtpUt-TC = FC and VC = 0. Hence the ofjgjn;gf the VC curve s where the TC intersects the =
y-axis. Since the ray is flatt i Harnso : ‘< point.

y atter at Q3 this meansﬂé&?}a 'AVC is the lowest at this poi i 1013/Q8 -

Q34 | A : ‘ "

Complex decision making process refers to m . All other options aré =
examples of ext I di i

p xternal diseconomies of scale /N 2013/Q9 i

-

Q35| B :
Diminishing returns tend to set in from thi
Workers No. of Chairs (Fi

1™

% L )

third worker the dimifishing returns stait.

(ﬂ‘-hb.)l\)_s

Hencefrom the

[(M/J 2014/Q3

Q36 | C i . : \
easing returns as the cost was decreasing as the output increased.

Short-Run: There were incr : : _ .
Long-Run: Since the cost started to go up it was due to diseconomies or decreasing returns to scale.

urns to scale and economies and diseconomies are only long-run concepts.
[M/J 2014/Q7)

e
Cl5x6=30] |

Key Point: Ret

AFC xQ= TF
,aa————q—.fFE"L'— MC TC
o s |-_{0+0=%
30 [0 |30+40-7%
_2——————56""‘"_3_0__ 70 + 30 =100
/3—6—”‘ 20 100 + 20 = 120
"4/70’-’/ 30 120 + 30 = 150
| 2 40 150 + 40 = 190
0
s 18—
T tion that have given marginal, th
point: If in @ quUés _ . ginal, then add them to find t .
:;?; have given total then find the difference between the total to find the m:;?gitr?;?L Ifin a question
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For this qun-xllon we need 1o calonlale the iand in the cost 1o verify vl statatnont
~ Peruniteost = TC/Output
1 100/100 = fr) Loty

2.160/200 7 0.0

"3, 180/300 = 0,0
4 320/400 =00
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Key Polnt:
1, If the average cosl decroases hat s increasing ratimns 10 sl O
2. 1f the average cost is constant than constant relins {0 sl
3, If the average cos B0t 000,
average cost increasos thon decransing reluims [ sl [()/NZUM/O?U
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Q40 | D B
/);,“ w s tholr azplanation for the shapt

All the short-run curves have law of vinlablo pum())

& B are irrelevant while C implies long-run, iy
O ﬂ[) (8] l() [[IRL [l ’ﬁ "1{‘ [NVJ 7()1[}/()41
E—— ' /n.mn"ry
Q41 '}Jlag/bjy; i
A roduction Tunction describes relationship (i W s and output,
" ( il Lo W f”% [141) 2015/07]
e ——— , o '.J '}:I/ ]
Q42| A e il
The fixed cost was J%JOO This fixed cost, lp(umn .mdpy,u.mumu,/m out of thes total cost of 240,
AFC is FC/Q = 300/6 = $50 At
- (i (M1 2015/Q]
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t" the LIRAC upwmfh fifh

External Dnseconomles of Scale: Ihl;amhl{
Decreasing Relurns to Scale: Causes a upward movement along the LIACG clrve,
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